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L 10FBLUT >

EhI K 4 T B FE KK B
1 ZH o= £8kS SKAE /N5 6/ 4 38.10 10:%%

- JOC

2 /N & S C /N5 6/ 1 38.83 10/%%
3 HFH  vElE B I GHiF /NG 7/ 1 38.90 107%
4 TN KSR B 1 G¥ifF /NG 5/ 0 41. 46 8
5 kI KM MY S %kt /)b 5/ 8 41.50 Sk
6 )10 BEF MY SAZERE /b 4/ 4 41.96 8%
T HERT B TS sl /N5 4/ 5 42.33 8k
8 /N T FRIRS S /NG 4/ 6 42. 46 SH%
9 JRH Pl WIS C ! 3/ 7 42. 65 Ok
10 B 5, i MY S& %Pt /)M 4/ 3 43. 44 8#%
11 InEsK— MR FESL S C /)M 4/ 9 43. 61 Stk
12 i g2 MG EYRSCE /N5 3/ 3 43. 63 Tk
13 BN oI EW /NG 4/ 2 43. 71 Tk
14 npgE  AEsb KLWEEBRH /5 3/ 8 44. 03 %
15 ARZ AR A b=oHk /N8 3/ 5 44.18 115%
16 HfE % S C KFF /N5 4/ 1 44. 42 65%
17 =g kb JSSHJI N 4/ 7 44. 46 65%
18 WHEE Kk KLWEEBRH /3 4/ 8 44. 61 11H%
19 1% [T J S SHJI /N3 2/ 2 44. 85 Sk
20 EHHE—R RS S /NG 3/ 6 44. 94 6%
21 HJHGRKRER =PANVE 1) /N4 2/ 6 45.09 6%
22 K] R 7N JVEIST /N4 2/ 7 45.15 6tk
23 AR K& YT /NG 3/ 4 45. 22 6%
24 )1 st THSC /NG 1/ 6 45. 36 6%
25 2| E2E2) WA AN /N3 3/ 0 45. 50 T
25 FEAR YEL AoV H I /N4 3/ 9 45.50 7%
27 Wk E AR JSSHJI /NG 2/ 4 45. 55 6%
28 A B =y N TN /NG 2/ 8 45. 60 6%
29 Y FBZE JSS—& /N5 2/ 1 46. 16 55%
30 T HBE MY S4Bt /N6 1/ 1 46. 33 5k
31 Kk 7 VRN ! 3/ 2 46. 60 TH%
32 AR BEK V hET—E /3 1/ 5 46. 72 6%
33 B Hik LS SAIR /M 1/ 4 46. 77 5%
34 JEH  FE o EE ! 2/ 5 46. 83 6%
35 JEK K oI EH ! 1/ 3 47.17 6%
36 T HEH] 2 VHIST /N4 1/ 8 47.18 5k
37 S HFH—M KL#&EHH /N4 1/ 7 48. 24 6%
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B K 4 T & 2E KK L=
1 =" = 2VEINT 1 12/ 7 32. 43 11#%

- JOC
2 BB B J S SHJI /N6 10/ 5 33.57 105%
3 pE T J S SHJI NG 9/ 1 34.34 11%%
4 INE EER A h=HR e 10/ 1 34.75 10%%
AR Wi FESRSCrR 1 10/ 6 34.78 9%
6 KH kg 2OV R M1 9/ 6 35.10 9k
7 By {fk PN A 1 10/ 0 35.19 9%
8 AEFFELRER EgFS S /N6 9/ 0 35.38 10%%
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EhI K 4 T B 2E KE B
9 /g VIS 1 8/ 4 36. 01 8k
10 A FhEE B — b5 ad! 8/ 1 36. 20 8k
11 FFE FHX a /N Hi1 9/ 5 36. 47 Stk
12 A8 BERK 7 JVENNT. ==h] 6/ 3 36. 49 8%
13 HH  RE FEIR'S S /6 9/ 3 36. 63 8#k
14 1o S J SSKHE NG 8/ 8 36. 80 9%
15 6K %3} S S CRIE aad! 8/ 0 37. 11 Tk
16 KB BEH MG B YRSCrE H1 5/ 2 37.83 TH%
17 f&H A 2 IR 1l 7/ 5 37.94 Tk
18 WY f&KHE FRFNFr7e & M1 7/ 1 38.15 Tk
19 il 8RR Y ASS NG 8/ 9 38.30 8%
20 BJIZAER J S S5FIL NG 6/ 8 38. 31 8k
21 /ME T Y I)HSS NG 5/ 5 38.50 6%
22 sElR &3 WS A7 NI NG 5/ 4 38.59 6%
23 JLiE  [Es =R B 1 7/ 0 38.69 65%
24 Wy fLZE T A NEIL /N6 7/ 8 38.79 6k
25 Wil HEK =7 2 AR /NG 7/ 4 39.12 6%
26 lL'EsT 77 YA SS NG 7/ 9 39. 26 Tk
27 /INRE G E— FRAFE 1 6/ 5 39. 46 6%
28 ARG BAME S S CHAE 1 6/ 0 39.50 6%
29 #&Mp e A4 h~rdR il 6/ 6 40. 37 55k
30 yREP  PREE B — h/KR /N5 6/ 9 40. 57 Tk
31 ik R Sz 3:E:= /NG 5/ 6 41.33 65%
32 A K v— AT /6 6/ 2 41.34 45k
32 {H EAE AN SIE 2 /N6 6/ T 41.34 4%
34 )l 7NV HINT. /NG 5/ 7 41.53 6%
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B K 4 T & 2E KK L=
1 Fib Bk WHEDSC 2 12/ 5 31.29 10#%
2 HLIR PR K oI EmW 12 12/ 4 31.54 10%%
3 WK AL GRS S F2 12/ 3 32.02 105
4 R R BIG7 3 3 12/ 2 32.13 81k
54 KA o1 N IR 3 11/ 4 32.17 84k
6 = ==K JSSHIJI F2 12/ 1 32.30 9%
7T MHE KR iGEwRsSs Cc 2 11/ 3 32. 34 9%
8 /Mn SRk FFNFrIe & 2 12/ 0 32.74 8%
9 =iy HE TA NEIL 3 12/ 8 32.96 SH%
10 ZRH ¥R Z8kS SYM 3 11/ 5 33.10 8tk
11 FafR KRIF V EET/NEC 3 12/ 9 33.25 Tk
12 &M e E— FNKH 3 11/ 6 33. 51 Stk
13 iy i K ER WAYEJEE:s F2 0 11/ 9 33.78 8k
14 4EHZEFFR WIRFFESCr 2 11/ 7 34.00 Tk
15 FEHFNKER MY S&5F: W3 11/ 0 34.16 6%
16 Il F  Ahs N YTy ) ERE 3 11/ 8 34.20 Tk
17 HIE K YA SS h2 11/ 2 34. 21 Sk
18 &Rl KA o I 3 10/ 4 34.34 Tk
19 V% H BESS 2 10/ 7 34. 48 SH
20 FEEF  BHR B I G&F H13 9/ 8 34.70 Tk
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21 @l EZ LS S H2 8/ 5 34.76 8k
22 14k A EfFE S C 3 11/ 1 35. 01 6%
23 /NE I 2SN 5 3 10/ 8 35. 22 6%
24 i EE T/ M VR B AR 2 9/ 4 35.43 6%
25 il &K S C KUY 2 10/ 3 35. 80 itk
26 snBh  HEKX R ER S C il 8/ 2 36. 46 6%
27 HEF =AM SRS S | 3 8/ 1 36. 47 5%
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